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Does your diagnosis of
the

liar paradox generalize
toCurry's paradox?

Should it?
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m(Aa) =1 iff m(A) =1$
m(B) =1

m)T(AL) =m(A)?

Inthe presence of self reference, these
rules do not assign values ofa complex
expression interms ofthevalues of
simpler expressions.
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Adding T toa formal language.

interpretthe mensentences
/ however you like in40,m,7].

Mo

I
assign is thevalue in

We treat T-sentences as undetermined atstageO,
and we progressively refine themover stages.
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NOTa Socution totheLIAR PARADOX

0 RUE43The naive reading in Netterseems

1 FALSE

susceptible toa revenge paradox.

xis neither truenor false

-TX --Tx
⑰ -
BotttM.



MORETHAN justTECAR PARADOL

* It'sa moper:itgives a safety guarantee for the
language itinterprets.

* Nothing special about negation. Refinement is doing
all thework - and itapplies equally to ->and
the Curry paradox, as tothe liar

& Nothing special abouttruth.
This technique applies

equally well toproperty ascription and any other
circular definitions.



NEXTWEEK

Whatcan these models mean?

Can we be neutralist about

these paradoxes?



thank You!

https://consequently,org
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interpretthe mensentences
/ however you like in40,m,7].

Mo

I
assign is thevalue in

We treat T-sentences as undetermined atstageO,
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What does this mean?
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Rut-VALUE GAPS

These sentences are

↓ FALSE

According to -These sentence
this model...

e

&)are notFSE:Ilx
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Whatis LOGICAL VALDIY on this view?

An argumentfrom Xte A is valid iff for every
model m, if m()=1for each PeX, then

m(A)=1 too.

Validity is preservation oftruth.
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· Sentencesthatare neithertrueverfalls are
still meaningful. (The meaning of'T

forces TX tobe assigned the value wo)

· ONE APPROACH:Sentences assigned in are interpreted
as not expressing propositions (whichmusthave
determinate truthconditions, givingvalues 0 or1.)
IS THELOGIC ofPropositions admits no GAPS]

· Another:These sentences do express propositions
- they

allow for gaps (a proposition
is notjusta

setofworlds or anything likethat).



REVENGE PROBLEMS

MODEL TORY:M) Tx) =m

DIAGNOSIS:Itis neither truenor false.

INNE LANGUAGE: (TXviTx)
WEARE MODELLING? E

This claim is also evaluated as e,
e

notas RUE.

Is there any way torepresent the diagnosis
inthelanguage we are modelling?
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Whatis LOGICAL VALDIY on this view?

An argumentfrom Xte A is valid iff for every
model m, if m() = [m, 13, for each PeX,

thanm(A)= 2m, 13 too.

Validity is preservation oftruth.
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REVENGE PROBLEMS?

MODEL TORY:M) Tx) =m

DIAGNOSIS:Itis
bothtrue and false.

INTE LANGUAGE: ↑xATx

WEARE MODELLING? E
This claim is also evaluated as e,

and so is RUE.

Tis All Sams ok!



However....

In this framework, negation does notexpress exclusion.

If we wanttorule outa claim, we cannotsimply
assertits negation.

This is the APRESSIBILI problem for 'Gut'

approaches to the paradoxes.



RESE PROBLEMS ARE STRANGE SYmmERRIC
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PLEASEALL IN TE MER!
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WECAN BESTRICTOR TOLERANT

Strict TOCERANT

STANDARDS SANDARDS

0

e·IfI



WECAN BESTRICTOR TOLERANT

FALSE
3

tolerantly I evaluatedstrictlyIfindthe



fails, when evaluated

- strictly

X is true

!
succeeds, when evaluated

tolerantly



MAS IS NOT SAYING TAT TERE ARE

two KINDS OF RUT

REVISIONARY VIES strict/TOCERT

ofMUT: SANDARDS

There are two truthlike There is one truthconcept,

concepts for which A5- T(A),

- MP A+TY(A) But TCA) (and A) can1:

be evaluated according to
Town:Toht -> A

I
two differentstandards.
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If there aretwo standards, whatis validity?
AE
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If there aretwo standards, whatis validity?
AE

ST: If m(A)= 1 than m(87-41,24
Dent have m(A)=($m(B)=0

If TEPREMISES ARESTRICTLY TRUE, THECONCLUSION IS

AT LEASTTPCERANTLY RUE.

A a 2AFtI + Fs+Av-A

In fact, if XENAthen XFs,A teo!

classical, two-valued logic
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THEST-LOGIC of EXED POINT MODELS

x =(+x) F,++x x =xTx) =TX
STT

x =x+x)#s

Tx, 5x Fst

In general, ST consequence isn'ttransitive.

AFsirB, BEC S AEs
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Speaking strictly, we rejecttheliar and its negation.

Speaking tolerantly, we accepttheliar and its negation
(Se, we avoid therevenge problem

for a gap-only approach)

&A excludes A. Speaking strictly

(4 So, we avoidtheexpressibility
problem for aglut-only approach)



furtherQuestions

· Logical consequence is nottransitive?

· Logical consequence is plat same consequence
relations are nottransitive?
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NEMRALISM?

Suppose A&B lead toa problematic conclusion7.

Axis 1:Stay neutral as towhich ofA, B are false.

Axis 2: reject- using neutral theory.

Axis 3: Stay neutral as towhether - (a) only oneof
A.B are false its feasible tofind outwhich;
(b) ... its infeasible tofind outwhich;and

(C) ... it is metaphysically impossible tofind out ...



His IS E NERALISM, But DFERENT

His 1*: Incerperatecompenents from GA*GruTapproaches.

Axis2*: Analyse the Semantic paradoxes using standard
account of fixed-point models.

Axis 3*: Find Space for all threenations ofvalidity
SS-validity (gap-legic) TT-validity (ght-logic),
and St-validity (new, men-transitive logic)

Distinctive:Thevery notion ofwhatit is toaccept to reject
view a claim is itselfatissue!



Anis Questions?


